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Q1. 80 I mixture of milk and water contains 25%
of water. If 24 [ of mixture taken out from
mixture, then find what quantity of water should
be mixed In remaining mixture to make water
65% of resulting mixture?
80. QY 3R U & YT H 25% T g1 Afg
TOIY0T | 9 24 | THY0] FebTed feran S, i ]9
foryur g Tt /T © UTHt et ST Ane e
i TiRome {801 § Ur=t 65% Bl Se?

(@) 56 [ (b) 44 1 (c) 42 1 (d) NONE
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Q2. A container contains two liquids A and B 1'="
the ratio 8 : 5 .When 13 liters of mixture is drawn
off and is completely replaced with liquid B, then
the ratio of A and B in the container becomes 1 : 1.
How many liter of liquid A was In the container
initially ?

Uh HeR A 8: 5 U H &l dRd eI A 3R
B | O1F 13 Tiex Y0l (HehTel STl g 3%
e U IR B Y §ad QAT ST g, Al heR T A
3R B &1 3UTd 1: 1 81 oal g | foba ofieR
YT RA A LT H R F YI?

(a) 128/3 liter (b) 117 liter (c) 134/3 liter (d) none
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Q3. In first mixture, quantity of milk was 6 lit Y= :
more than that of water. After adding 40 Itr of
second mixture (having ratio of water to milk 3:
5) in the first mixture, ratio of water to milk in
the final mixture becomes 9: 13. Find the total
guantity of water in the final mixture.
qe@r for901 O g8 ! OE1 Ul 9 6 diex
3¢ AT | Ugct fl8ur 4 40 Eﬂ]%gﬂﬁr%rm
(TT 3R QY T 31T 3:5) & dlg,
Sifer i & U SR gy T SFUT 9:13 B
G[ﬂ%gl 3ifaw fHsor d urt & od /T 1
I

(a) 27 Itr (b) 31.5 Itr (c) 36 Itr (d) None of these
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Q4. In 100 lit mixture of milk and water, milk is
68 lit more than that of water. When “a’ lit of milk
IS taken out and (a+15) lit of water is added, milk
becomes 50% more than that of water. Find value

of ‘a’?
%aﬁwﬁ%ﬂoorvﬂaﬁrwﬁga,uﬁ@m

3P g1 59 "2’ ciex g a1t Srar g
3R (a+15) Tex UM {HamT ST 8, o g8 g
T 50% 3% B A1 g | T BT A J1d HITTE?
(a) 20 (b) 15 (c) 18 (d) none
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Q5. In a juice, guava Is 85% and rest Is sug
In another juice, pomegranate iIs 90% while
rest Is sugar. Both the juices are mixed in the
ratio of 3 : 2. Find concentration of sugar In

final mixture. (in %)

U O H 3HFG 85% 3R Y A1 5
S H 3R H 90% 3R 1! I+l | aﬁ%@{ .
T B 3:2 & 3IUTd | Hamar o s | sifad
for901 O =it ot HigdT ATd HITSI|
(a) 10 (b) 11 (c) 12 (d) none
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Q6. A mixture of milk and water Is in ratio 5 : 3=
If 40 liters of mixture iIs taken out and 4 liters of
oure water Is added to the mixture, then
percentage of water in the mixture becomes 40%.
~ind the Initial quantity of mixture.

Y R U BT 5:3 P gl afg
40 e for8ror fFepTetl SITaT 8 SR fHysor # 4
SfTeR Y[ O e Sirar &, o fasor § o
c‘ruﬁmm%ﬁw%@rwﬁmﬁm
AT JTd PIforg |

(a) 148 liters (b) 144 liters (c) 150 liters (d) 136
liters
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Q7. A man bought petrol at the cost of Rs.

70/liter and kerosene at Rs.30/liter. He mixed

petrol and kerosene in some ratio and sold

the

mixture at Rs. 60/liter. If he earned a profit of
11 (1/ 9) %, then find the ratio of petrol and

kerosene oil In the mixture

Ueh 3MEH! 7 20 ITY HT HIHJ W UCIa
Tdtar| 70/cfteR 31K firgt 1 dd 30

PUU/ACR | 3T S U H Ueid 3R
2t 1 o foreira SR YU &1 30 & o

AR, A Ay A e IR gt S dd ©
3(UTd J1d Pt

(@)4:1(Mm)5:3(c)3:2(d)none

ﬁtrléo&ﬁatrféwﬁn(ﬁ%% BT ATH

d
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Q8. A vessel contains 240 liters of petrol. 20 liter :
of petrol taken out from it and completely replaced
by kerosene and then again from the mixture 20

liters of mixture taken out and completely replaced

by kerosene. Find the remaining quantity of petrol
In the final mixture.

oddﬂﬁmo(‘vﬂaﬂ‘cﬁﬁ%lsﬂﬁ@rzwﬂﬁ
a@ﬁlﬂmlmw&ﬁ? eI FHaad
W%mm‘r 3R fhe %rm*érz fergroT
(e Tal 7T 3R O3 e ¥ (e & dd 9 9ed
@%l%m &ri%m 0T T UTic] ol Y AT T

() 166.67 lit (b) 233.33 lit (c) 217.17 lit (d) 165.5
It
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Q9. From a vessel of 45 litre which is full of milk,
litre milk 1s taken out and completely replaced with
water. Again 9 litre mixture is taken out and
completely replaced with water. Find the quantity of
milk left in the final mixture?

45 X BT TDH S ol Y T W12, STH T 9 &R

o BT SITdT § 3R m@rqﬁ@raﬁr '
W%lﬁrﬂ@rﬁﬂa STAT SITdT 8 3R

R RE T I @rdqm%m\‘rnﬁ %I 3ifow g |

a%rg‘uc"ruﬁ SISEISEE

(a)32.4 litre (b)28.8 litre (c) 24 litre (d) None of

these.
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Q10. Rice of two category i.e. Rs. 150 per kg anc
Rs. 200 per kg are mixed with a third category in
ratio 1:2:2, if mixture of these was sold at profit on
20% for Rs. 252, find cost price of third category
rice?

21 U} BT I1ad AT 5. 150 Ufd fhalt 3R 5. 200
Uid T clomg &1 AiRRT 9Uit o 1Y 1:2:2 & 3{4Td
o foreman w1 8, afe 37y g 20 Y R 3.
ST AT 1 252, dERY 90 & ITad BT B
T T ifor?

(a) Rs. 175 (b) Rs. 275 (¢) Rs. 250 (d) None of
these




MISSION SSC -2024 IT¥ = -~

Q11. Two liquids are mixed in the
ratio of 3: 2 and the mixture is sold at
Rs. 11 per litre at a 10% profit. If the
1st liquid cost Rs. 2 more per litre
than the second, what Is the cost per
litre of the second liquid?

A RAUSIY BI3:2F 5|
foremaT SiTdn 8 SNk fuyor &6t 20 303
A ST Sar 21 11 ufd e 10% a1y
R | gfe Ugel R Bl SAT S| Uid
dter gae A 2 31f® g, df goN Ok
o1 Ufd ey Iea |1 82




kg and 25 kg of rice at the rate of Rs 20 per kg.He sold the
mixture of both types of rice at the rate of Rs 27 per kg .His
profit in this transaction Is

U ghTER A 15 fHUT a1ae 29 % ufd fooun 1 g3 1 SR 25
feuTarad 20 T Ufd fPUT Sl A WS ST ST UPR &
qTdal & Y01 Bl 27 3 Ufd fbuT ot 33 I 99 fear gt
AY B Ig A-¢ §

A Rs 125 B.Rs 150 C.Rs 140 D. None of these
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Q13. In what ratio must a grocer
miX tea at Rs.60 per kg and Rs.65
per kg, so that by selling the
mixture at Rs. 68.20 per kg, he
may gain 10%.

60 =U3/fHT. 3R 65

S Ug/fHUr. arelt I ol fahe

3{UTd | e o ﬁp‘ﬁr%rm

Pl 68.20 TUI/[fHUT. 99 TR

10% BT ATH UTd Bl |

(a)3:2 Db)3:4 ¢)3:5 d)
none
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and X 280/kg. In what ratio should
these be mixed so that obtained
mixture sold at 320/ kg to earn a
profit of 20% Is ?

2 180/f3m 3R 280/ fpom T
qreit amﬁmm 3{qurd |

ﬁaaﬁwﬁﬁwﬁm &I 320/
fh T P R IR O TR 20% BT ATH

31ford g2

(a)3:1 b)4:13 ¢)1:13 d) none
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Q 15. Atrader had 9 quintals of
wheat, He sold a part of it at 10%
profit and the rest at 20% profit, so
that he made a total profit of 14%
How much wheat did he sell at

20% proflt’?
Ueh TR} & U 9 flbed Tg Tl
3T B f8&T 10% ATH 3R

gTh! BT TeTT T 20% ATH TR 9
ST, 39 TR 34 Hdl 14% ATy

g:;rrl I 20% AT WR a1 g
?




